Six Wide Lanes

Andrew Russell
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Six wide lanes flow - ing throughthis__ ci -ty Andthis place is - n't
lanes travel-ling out of this ci - ty AndI ain't go - ing

lanes lead -ing in to the dis-tance AndI can't keepon
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where 1 be - long But this road keepsgo-ing on On and on andit
back fora - while I'mtravel-ling on____ and_ on On and on andIl
straighta - ny more I'm___ Mov - ingto day I'm go - ing a - strayandlI
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can'tbe ve - ry long_  now Six wide  on
aintgo - ing back_ for a  while Six wide
keep travel-ling on____ and__
23 Bb G Bb
A | |
)’ A =Y Il | | =) | Il |
——e " b —o_—= —— I ——
ANV | | | | | | | | | | | | | |
PY) | I ! I | I | | T T | T T I
Sixwide laneshead-ing from townto town AndI can't finda placeto set-tle
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down I'm_  go-ingin circles I'm all a - loneOh_  why won'tthe high-waylead me
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home Oh_  why won'tthe high-wayleadme home Oh_  why won'tthe
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high-way leadme home Oh_  why won'tthe high-wayleadme home
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